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QUESTION 1

A pea plant has alleles for the dominant tall gene (T) and the recessive short gene (t). Therefore, it appears as Tt.
Which of the following will correctly describe its phenotype if there is complete dominance? And which describes
incomplete dominance? (complete, incomplete)

A. Tall, Tall

B. Average. Tall

C. Tall, Average

D. Tall, Short

Correct Answer: C

QUESTION 2

What is the basic structure of an amino acid?

A. An amine group, a carboxyl group, and a functional R-group.

B. An amine group, a polar side chain, and a non-polar side chain.
C. An amide group, an alcohol group, and a functional R-group.
D. An amine group, and an amide group.

Correct Answer: A

QUESTION 3

The chemical 4|[NH4Fe(S04)2 x 12H] contains how many more hydrogen atoms than oxygen atoms?
A. 16 hydrogen atoms

B. There are more oxygen atoms than hydrogen atoms.

C. 32 hydrogen atoms

D. 64 hydrogen atoms

Correct Answer: B

QUESTION 4

In the following sentence, which is the dependent clause?
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The World War Il soldier was a hero, especially because of his actions during the invasion of Normandy.
A. The World War Il soldier

B. was a hero

C. especially because of his actions during the invasion of Normandy

D. the invasion of Normandy

Correct Answer: C

QUESTION 5

A survey company must contact 136 people via phone calls. How many buttons must be pushed to make the 136 long
distance calls?

A. 816

B. 1224
C. 1360
D. 1632

Correct Answer: C
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